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Page 5 activity 2.2

This should ask for two micro-economic factors (not macro-economic)

Page 28 answer 2.1

The correct answer is (c) import

Page 98 answer to task 6¢

Option (c) should read Civil law an criminal law

Page 113 answer to task 8

The answer should be True

Page 122 answer to task4c

The General Ledger code fo the credit notes should be 5013 (not 5012)

Page 123  answer to task 8c

Option (c) Council Tax is a direct tax

Page 136  answer to task 6¢

Option (c) Council Tax is a direct tax

reported 29/05/24

reported 13/01/23

reported 12/06/23

reported 27/04/23

reported 12/12/23

reported 12/06/23

reported 12/06/23



